B AYKEIOY AATEBPA

193 1)
) P(x)—Q(x):(x2—x+1)—(x3+x2—x):x[;z%+1—x3—xz/,-k(:—x3+1

B) P(X)Q(X)+ 3Z(XZ—X+1)(X‘°’+XZ—x)+x‘°’:
=x° XA/ XZ/ X/ X{+X+)<Z/+X—X+X( X® +2x% =X

Y) [P(X)]2 +Q(x)=(x? —x+1)2 +(x*+x* =) =
:(xz)2 +(—X)" +124+ 252 (—X) + 2-X% + 2+ (—X) - 1+ X* + X2 = x =

=X X212+ 2% = 22X+ X+ X2 = x =X =3 +4x* —3x +1
19.3 2)
a) P(x)+Q(x):(2x2 +3x—4)+(x3—2x2 —3x+1):

=207 1 3K —4+x3— 287 — 3% +1=x°—-3

B) P(x)Q(x)=(2x"+3x—-4)(x* —2x* =3x+1) =

=2X° —4x* —6x% +2x% +3x* =63 —9x% +3x —4x> +8x* +12X —4 =
=2x° —x* —16x° + x> +15x—4

Y [P(x)] -3Q(x) =(2x* +3x—4) —3(x* ~2x* ~3x +1) =

= (2x2) +(3x)° +(~4) +2(2x?)- (3x) +2(2x ) (~4) + 2(3x) (—4) ~3x° + 6x* +9x ~3=
=4x* +9x° +16+12x° —16X* — 24X —3x° +6X° +9x —3=4x" +9x*> —x* —15x +13

193 3

@) 2P(x)-3Q(x)=2(x*-1)-3(x*+1)=2x*~2-3x*~3=-3x" +2x* -5
B) [P(x)+2x][Q(x)-x]=[x*-1+2x][x*+1-x]=

=(x*+2x=1)(x* = x+1) =x° =x° + X"+ 2x* = 2x* + 2x = x* + X ~1=

=x°+2x* —2x® —x® +3x -1
v [P(x +x+1] -1Q( x)]2 [( )+x+1] -(x +1)2=

= (¢ #x) (¢ #2) = (x7) # 27 xeex? (67 + 2 1) =

=X 28 XX - 26 —1=xO e x e xE -1



